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Soluzione preliminare del problema 2

Problema 2) Nuotarein apnea
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Zsurface = p/ (2n-m-kg T)"? =

= 101300 Pa/ (2r - 28.86 #-1.66107 kg *1.3810% J£ 1288 K) ¥ =
= 101300 }><|-m'2/ (1,197-10% M -szyh'l-ya y) V2 = 293107 urti-m2s’

Z = Zsurface:St = 2.93-107 urti -yh'zyé'l-?s jh*5 £= 1.10-10% urti

m=r-Ad dover = densita

Fpeso =mqg=r Adg
Dp = Fpen/A=T -9(-d-g /9(: r-gd=gd dove g= peso specifico

Dp=r-gd b d=Dp/(rq) ser = 1000 kg/m® (acqua)
d=Dp/ (r -g) = 20 &fn-101300 Paayfn™*/ (1000 kg / m*9.8 m &) =
= 2.026-10° M-p*/ 9800 -m?= 207 m

(per I’acquamarinar = 1008 +1030 kg/m®)

Soluzione proposta da
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